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As you throw & coin, peopl bucty up and dovort Hhe
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out of Hha ground witheit anyons o notics hews
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What informaon is releset to o giben problam?
Howo /s fﬁaé&é" /'7£7' “fdﬂw n /‘€/§/>0f7$€. +o new z'lvgormcﬂgfm?

To address #«z&a conerni, We st B'/‘QL/ obsene

hovo Hhe occurence oF one aert F Mects Fhe

,o/‘obabf/f‘}y op sSome 0#‘” W_t E In O#‘N wofJ/g)



(R)
Given Hot F lm”,md, hovo /f}ch\/ ‘s £ +o
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outcomes corresponds to die #4 = 3
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Ex. The Crown prince is ahooys the elbst male
o Fspring in Hha royel Foumily U the crowon prince
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_Eil Suppese. yous /w‘]Lloor has Heoo chgs, Eacl
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dog eating its foworik dish in your neghbors yard?
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sibbact 4, because, of counting Yo otdcoma
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Died <> Die2 not Died!
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